ones per group

1142
divisor ——3 [ 34.26

3 tens that have been divided = 3
tens remaining, ungroup into ones —>O4 +«———— add the 4 ones we had to start
3 «—— 3 ones divided

tens per group

dividend

1 one remaining, ungroup into tenths =1 2« add the 2 tenths we had to start

12 —— 12 tenths divided

tenths remaining, ungroup into hundredths —>O6<_ add the 6 hundredths we had to start

©+—— 6 hundredths divided

nothing left! nada, zilch, zero, goose egg ——>O

TONIGHT! JUST AS ABOVE, answer the
following division problem (labeling each

step)
HY436=9
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